A £ 0 & AFE

2 &

Al A

20233 & 20llah LB 232 MG
2A: &Y
B AxES 250lzAl
tel: 23t=dE E4d5t (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
=S| ™Y 2,650,587 2,522,356 128,231
= 36,000
Al 8,000
- 2,606,587
HAE=2 F30l=AS A1,550 952,220 210,670
= 36,000
Al 8,000
- 897,550
Zll=ds 43t A1,550 952,220 210,670
= 36,000
Al 8,000
- 897,550
aeEA 98,400 98,400 0
201 Ler23H| 98,000 98,000
03 HAL2 G| 98,000 98,000
O0t==2 o 98,000,000& 98,000
202 bl 400 400
01 =LHO4 b 400 400
O&2|04d| 400,000 400
H&3H 188,000 188,000
201 B2 AY| 188,000 188,000
01 A=R2teld| 1,000 1,000
Oget=ZH| 1,000
O&AN S 23ltz 7 1,000,000& 1,000
03 &At2ZH] 187,000 187,000 0
OII=EEEZ2H 90,000,000 90,000
O3 st 2 WM& 97,000,000& 97,000
ANESHA 102,140 102,240 A100
201 B2 AY| 100,000 100,000 0
03 A2 I 100,000 100,000 0
OADIg 239 70,000,000& 70,000
O0l8 337121 =RI0| &Motes A
30,000,000 30,000
202 0idl 810 810
01 =LHO4 b 810 810
O&2|0d| 810,000& 810
203 PYR=&H| 1,330 1,430 A100
03 A FAIH R FAIH| 1,330 1,430 2100
O23t0l= &43 JRFAY|
1,330,000& 1,330
JI”EA 23,810 23,810 0
201 Ler23| 23,000 23,000




A 2 dY
ZH: AxES 2H0BAY
tel: 23t=dE E4d5t (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 Ar=EHI 23,000 23,000 0
O=thH 12,000,000 12,000
Osgd 11,000,000 11,000
202 o4 810 810
01 2LHAH| 810 810
O/t 810,000& 810
stttz 2 es XJAY 100,810 99,810 1,000
= 36,000
T 64,810
201 er23| 100,000 99,000 1,000
= 36,000
- 64,000
01 At2teltl 5,000 5,000 0
Odgt==H| 5,000
oeIMs=E= 5,000,000 5,000
02 s3=gHl 5,000 4,000 1,000
OZ332= 2 HMAl 5,000
Ot=220=a2ASs HalH|
5,000,000& 5,000
03 A= SHI 90,000 90,000 0
Oogd== 2384 S 90,000,000& 90,000
= 36,000
- 54,000
202 04| 810 810
01 =LHOLI 810 810
o220l 810,000 810
S22 dlsis 318,240 315,810 2,430
201 er23 | 17,430 15,000 2,430
01 At2teltl 17,430 15,000 2,430
(@)= st =l 17,430
OZ%E ANRESS 7Y 1,400,000& 1,400
o3 MAl 7
1502 *1,0000H*x25*22] 600
OZ=2S ME(AUMI S)
1,000 *2,500F *42] 10,000
ousJ=kz s 78 3,000,000 3,000
OISt SIIHH)| Xtz
202,500& 128 2,430
203 g4l 810 810
03 A=A 2= 810 810
Otl=tist 243t dRFA
810,000 810
301 EtE N = 300,000 300,000 0




MO JY HO

=L SIFSRS,
TE2 FsHlsAY
sol=tE 23t

SN - B CRI(S]) - NISAY - BES A HIm=S2t
14 JIEt2 43 300,000 300,000 0
OZAMZE 300,000
Ozt % ZAZ 300,000,000& 300,000
o=t 2¢ 110,150 124,150 A14,000
Al 8,000
- 102,150
201 B2 AL| 1,540 1,540
01 Al 22IH| 1,540 1,540
OHDE s4ot M 60,0002+l 540
OE7P0H 2% §IE7
1,000,000& 1,000
203 PR =&IH| 810 810
03 A FAIH R FAIH| 810 810
OsHl=t 2% ZLFH
810,000& 810
301 LetENZ 107,800 121,800 A14,000
Al 8,000
- 99,800
2= - 2SRSEA3 107,800 121,800 A 14,000
OWdgat 2¢ 41,600
OXIZA =< 250,0002 #4353 x 15+ 12& 12,000
OBt==At =% 100,000 43| x1H » 122 4,800
oO%E =4 100,0002 42| x 15+ 12& 4,800
OFIIHF3 12,000,000 12,000
Al 8,000
- 4,000
O©J=lH=3l 5,000,000& 5,000
Ot &It 5 3,000,000& 3,000
ONIZLIRHAER 2 29,600
OXIZ Xt =& 250,000& #4353 1H+8H 8,000
o%E ¢ 100,000 *43| x2H «8& 6,400
OFI|H=3l 7,600,000& 7,600
O©J1=lH=3] 7,600,000& 7,600
OadAHEaH" 29 31,600
OXIFA = 250,0002 43| x 1G+ 12& 12,000
OBt=At =% 100,000& 43| x1H 12 4,800
oy ¢ 100,000 43| x1H * 122 4,800
OFIIHAZF3 5,000,000& 5,000
OJ|18 =3 5,000,000& 5,000
Ollsd Hgd=sl 5,000
odg A3l 5,000,000& 5,000
PGt CHEEE 2IAIE 2 850,679 704,475 146,204
SSeI™G AE otX 22| 850,679 704,475 146,204




2A:

SISl PSR

M PHGH] CHE 234 29
ol 23loEY Al orE R (12l M2
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
ZAE Jls =Al 2l 363,772 239,865 123,907
101 e124d| 109,499 98,678 10,821
04 JIZtN22 NS84+ 109,49 98,678 10,821
OJI2HLI2| (2812 H 2Y2X, Bei%
2E8X) 55,065
oJ12= 76,9603 1662 x2H 25,551
OM=g(R=, IIE=E)
13,735,3602 3,736
oFRELY
9,620+ 150%*48A| 2t <53 x2H 6,927
o=l 10,0002 x222 82 +2&H 3,520
OMIEBOI2RE3) 5,331,000& 5,331
O3¢d HA A 51,434
oJlZ= 9,6203 x6H*4A| 2+ 142493 29,091
ogd=zz=¢
14,4303 x0H #4A| 24 2 +0F 12,468
ORI 9,000& 6 *18L 93 8,748
OMIIEE (DI 2RE3) 1,127,000& 1,127
Oul=Hl 3,000
O30 E H4|E 225
150,000& 10 <23/ 3,000
201 =3 152,463 140,377 12,086
01 A2t 16,326 17,526 A1,200
Oget=ZH| 12,270
OLE E2= L2458 ST MA
570,000& 570
Od= F 5,000& 10JH+6IH 2+ 123 3,600
O&XZHM & =2
400,000& + 122 4,800
OFJICH2 dloXts It QI
30,0002« 152 <23 900
O22= HE 10,0003 10+ 123] 1,200
O™AIE B NE NE
15,0002 20 & *42] 1,200
@r=1=i:] 3,456
03422 AE =4l
8,000& 12341122 3,45
OARSFY(UAHHR HIE S)
15,0002 20 300
ODAHE=ENE 2AH
300,000 x1&H =12 300
02 3224l 136,137 122,851 13,286
O8&82= £ HA 37,656
OEE=2H ¢s5 4303 +60021* 122 3,096
O=Xt 0122 (H2)
362 20,0004 #4312 34,560
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2A:

SISl PSR

= Aot HNE 23N 2E
ol 23loEY Al orE R (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAlE &I Xl 40,250
ORUAIZ2e] 6,000,000& 6,000
OSEASH U AT S 7L
8,000,000& 8,000
OxgJ| &3 s 7¢ 13,000,000 13,000
OZZHHRI2AH(HR &)
2,500,000 *2CH 5,000
OIlot: =8 & =F(FS)
165,000 *5CH* 102 8,250
OsXZeltl(Feld, ossa 8)
457,000 123 5,484
OsXzeltl(Feld F23 |Al2el)
1,334, 7502« 123 16,017
ORUIIA FXl2tel 1,850,000 *62 11,100
ORUSE FXl2el 10,000,000 10,000
SUEE RX2c 3,630,000 3,630
SUAIE geardaH 12,000,000& 12,000
202 04t 810 810
01 =LHOHI 810 810
Ozl 810,000 810
207 ARl 75,200 75,200
02 MAHHEHH] 75,200 75,200
O=23o|dg Feld(SE2SAAH) IHE
75,200,000 75,200
401 AIEHIZL S0 21,000 21,000
01 Al&H| 21,000 21,000
SOOIAH Il =el0lE WA
21,000,000& 21,000
405 KHoHF S| 4,800 4,800
01 ML ESFSHI 4,800 4,800
O=2se|de FelH(SE2EAAH) W 4,800
OB AZEYN 7
1,600,000 3 4,800
SAMAIE &8 KX 2t 486,907 464,610 22,297
201 er23 | 486,907 464,610 22,297
01 At2teltl 49,562 49,458 104
Oget+=ZHI 48,302
oggas 7037, 741 M %43 2,168
Osd)| tEae| =
197,000 *3CH* 122 7,092
05 FIIZA =2
130,000 *3CH 390
OATAE & & 2cl 5,560
oY FLHH 1,600,000 1,600




2A:

SISl PSR

S IHotD orMSt BSAIE 2
ol 23loEY Al orE R (12l M2
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
PSRRI
330,000& =123 3,960
Ot 22| CHEH 1,000,000& =123 12,000
OSUAAHIBYA +42
242 5003128 2,910
OFM @I W™l X2 Y
13,4483 «58H 122 9,360
OXIZ2a)| =2 35,0002 128 420
O&0IsE A28 FAU(SEX &)
665,000& «12& 7,980
OoHIAYXNI| RFRUI(ER)
,832& %2302 | E4* 13 422
Oo2g=¢ 1,260
OSHHNY SYNSARS FHLY
70,0003 *6H *33| 1,260
02 32| 437,345 415,152 22,193
03322 2 HMAl 145,356
o™IIR2 10,000,000& x 123 120,000
O4ot=ER3 1,300,000& = 12& 15,600
OUSFLRES 2,500,000& 2,500
QPIHYS M AIZZ
35,0003 *10JH* 12& 4,200
OZESHIASH It
2,000,000& 2,000
Osd V=2 8,800 x10CH*12& 1,056
OAIE &Y= XY 291,989
ONESOEE BANE FUOIHE
15,000,000 12l 15,000
OASSOIFE BAASE HIIOEF
5,000,000& *13] 5,000
Od=s=2elY FAALE EO1EH
3,000,000 *12] 3,000
OFIIGFBRIY FUl&H FHIIZA
1,000,000 *12] 1,000
OF A FXI2teld| 10,000,000& 10,000
OFA =F2el 22,000,000 22,000
OFEAN EAEY 14,339,238 x12& 172,071
OFAN Fel& EA 2, 7403 *1,04m’ 2,998
Ottt MIHE 6,000 *350m" 2,100
=283 A 5,000 *160=+23] 1,600
O3=x0| A= 2,000,000& 2,000
OHI| =& BE FXI2elb|
2,000,000 2,000
OHIMZHD| FX2eld]
1,000,000& 1,000
O©s2I| A2l 1,000,000 *3CH 3,000
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SN 2stelEg

I YN0 QEE 25AE 2
ol 23loEY Al orE R (B9 &)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OJIAEHl, A2 S |A2cll
3,000,000& 3,000
O3x4 |2l 2,000,000 2,000
Ogas 84 o7 &5 5,000,000& 5,000
Ootel =FAL(E0)rX2el
9,000,000& 9,000
OFEAL T )| MEWED| HH
90,0002 +58LH 5,220
OFEAr 28| Bt H0F 2=
11,0502 %904.9m* 10,000
ORHSAY & SAEHl FAl2e
416,6063 * 12 5,000
Oadt=E & AdtHiat |Xlatk
5,000,000 5,000
OZ39E SIIXx5 (0] WXl
2,500,000 *2CH 5,000
HHY 2 ZH 858,358 865,661 A7,303
A2 A(23tedY) 806,554 811,769 Ab,215
el 24| 806,554 811,769 A5,215
101 e124d| 773,721 786,029 12,302
01 2= 312,677 350,483 N37,806
OJlzs 229,268
Og A 209,707
6= (283) 4,340,700 1+ 123 52,089
062 (23) 4,059,700« 1F 122 48,717
®/=(135) 3,082,300« 1H 122 36,988
07=(45) 2,208,700 1+ 123 26,505
@8=(35) 1,892,000& «1H+12& 22,704
@82 (33) 1,892,000& x1E» 123 22,704
(©psEY Falsll 209,704,800 1. 7% 3,565
odz2+¢ 213,269,780& /12&+0.9 15,996
OE=g 2,880
CLIEN; 40,000 3~ 122 1,440
ORLINEF(HMAA, 22)
20,0003 x3& =128 720
ORLIE(SMAA)
60,000 1 * 128 720
O&EI=ZINZ 3,720
©5-10 Ojet 50,000 1 * 122 600
©10~15& 018t 60,0002 x 1 * 12 720
©20= 0laf 100,000& x2&+12& 2,400
O&EZFEFIPHt= 720
©2654 014 30,000 2 * 122 720
Ofg=g 600
0s3 50,0008 x1&x 122 600
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FA: 2 dE
;. ¥ 233
CHel: QIZAR2AH|(232TY) (SH9 &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oliesa+¢ 2,136
(OS=11 Ea 4,340,700 * 184 1% 123 2,136
OS+g=2+4 240
OJl=g88e=+g 240
8= 20,000 18122 240
O ] 89,4653 x5 x2&Hx 12 10,736
Oxz=22=¢ 25,875
OAL22R+E
12,3213 *3BA| 26 122 25,875
Od A ZAMH| 140,000 x6& * 122 10,080
O &= Itd| 213,269,780& / 12& +60%+22] 21,327
OS2 4| 5,095
ogery
213,269,780& /122 »86%/30& » 10 5,095
02 JIEtME = 408,391 381,529 26,862
O 322,332
(@)= PPN [oT=1 75,279,000&x14 75,279
ogJINT= 52,460,000 * 1 52,460
(O PN Ie= 52,008,000& 1 52,068
oINS 50,377,000& *1& 50,377
OgJIMs= 42,143,0003 24 84,286
OX I &bl 314,470,000 *2. 5% 7,862
OIEse 2,400
CLIEDN; 40,0002 =2+ 122 960
SIS 20,0002 x3&* 122 720
(O PUE] 60,0002 x 1 * 12 720
O ] 89,4653 5L x4« 122 21,472
OxuU2R=E 32,025
oINS 11, 1303 »50AI 2H+3E * 123 20,034
OgJIMs= 9, 9923 *50AI 22« 123 11,991
OF A ZAH| 140,0002 62 122 10,080
OYIt2 &I
322,331,750 86%/ 122 /302 10! 7,701
OzelgRg 5,803,080 «84%*Xex 12 5,265
(@ME=1b= = 406,622,000& *1.75% 7,116
03 SRH(RINAHA) 222+ 52,659 54,017 A1,358
OJlzs 2,532,400« 1H* 123 30,389
oJl2+¢ 2,280
OFHZAH| 140,000& x 1= 123 1,680
ou2lesH| 50,0002 x1& » 122 600
od2=+¢ 1,266, 1803 *1H 23 2,533
Od2+gitits 60,0002 x1& 122 720
OAIZt2l ==& 916,560 x1& 128 10,999
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FA: 2 dE
B sE2oAY|
Chel: ol 2oy (231D (Hol: &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OE &=l 1,519,4402 x1E 23] 3,039
Ouxt=g 101,840 x1&»10& 1,019
Oflg=g 40,0003 ~1~122 480
Ooxe=g 100,000& x 12 =123 1,200
204 ARt AH 26,940 25,740 1,200
02 2g=2 Xl 26,940 25,740 1,200
OXg2xH] 26,940
O6= 175,000 x2&* 122 4,200
ors 165,000 x2&* 12 3,960
o8z 155,000& x2& 123 3,720
OgJIks= 400,000& x1E~12& 4,800
OgIINT= 175,0002 <32+ 123 6,300
ogJIke= 165,000 2+ 122 3,960
M4 HASRESS 5,887 5,887
M BRA(RIAHL) 22N BEERE=s S 5,887 5,887
@ZN L==y=: 5,887
O=UALES 163,950 x1&* 122 1,848
OLoIE)| Qs
18,8802 x1&* 123 227
(ONIE=on)= 77,0803« 18122 925
o=ggs 198,220 x1&» 12 2,379
OL e 42,3302« 1+ 122 508
22H(23t28 L) 51,804 53,892 22,088
Jl=23H] 51,804 53,892 22,088
201 er23| 18,504 19,272 AT768
01 At2teltl 18,504 19,272 AT68
Odgt+==t| 3,936
OJI2At=2e(l 21,0002« 12H 122 3,024
otE7=z 912
(_ES2ON 20,0002 x2+ 122 480
(_INEEON 9,000 x4+ 123 432
Ogxz 3,000
O=AD| gitz 250,000 «1CH* 122 3,000
O&LHEH A2F 3,120
ozgH &Y +¢
173,300& »3CH+6 3,120
o=l 8,448
OSZ2AA sS4l
8,000 x11H+BAx 12 8,448
202 04| 21,120 23,040 A1,920
01 SLHoIH 21,120 23,040 1,920
OZLH0AHI 20,0002« 11H~82* 122 21,120
203 HR=AH] 3,180 3,180 0




FA: 2 dE
;. dH I3
chel: D=2 (252FY)
RN - I BRA(E) - HRA - BES of v A
02 FRItHAA =AY 480 480
OZ AR (129)
40,0003 =12 480
MU FA2HLIRFLI 2,700 2,700
OJIEAH(15H015t) 250,000 12 «90% 2,700
204 2P AFH| 9,000 8,400
01 MRt 1,800 1,800
o=& 150,000& x 12 =123 1,800
03 S3g 23| 7,200 6,600
otel syl 50,0002 x 12« 12& 7,200
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